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o777 &6 / SECTION A
nfota / MATHEMATICS
1, wzﬁrﬁuua‘i—zxw+89)-94—:-2+(33+3+9><2—7)—:-11= -
(1) 254 (2) —225 (3) —235 (4) 245
Simplify7+5-—-2><(7+89)—-94-:-2+(33—:—3+9><2-—7)—:-11= .
(1) 254 @/-225 (38) -—235 (4) 245
2. @awﬁzomscﬁiqﬂaﬂww1601:g%awﬁﬂsasaﬁwwkg%la?aﬂ%wﬁ

Tesh! 1 ad TR A SIS | |
(1) 138kg (2) 183 kg (3) 140 kg (4) 150 kg

The average weight of 20 boys in a class is 160 kg and that of the remaining 5 boys 1s
50 kg. Find the average weight of all the boys in the class.

\(y/ 138 kg (2) 183 kg (3) 140 kg (4) > 150 kg

3. wHayg § 7 Rk g ww Iied i 226 @ | afe 398 & B8 g WH U T 3Tk
ST 340, 180, 260, 56, 275 TA1 307 8, q TWwd ferenefl gRI W FRY Y 3 Fd

EQIE
(1) 160 (2) 162 (3) 163 (4) 164

The average marks obtained by 7 students in a group 1s 226. If the marks obtained by
six of them are 340, 180, 260, 56, 275 and 307 respectively, find the marks obtained

by the seventh student.
(1) 160 (2) 162 (3) 163 \(9/ 164

4., T N (8 +4—2)x (17 =12) x 10 — 89 =
(1) 3950 @) 411 (3 412 (4) 3949

Simplify (8 + 4 — 2) x (17 - 12)x 10 -89 =
(1) 3950 (2 411 (3) 412 (4) 3949

5. T hIGT 005+ 1-5x5+10% 05 =
(1) 425 (2) 425 (3)  0-495 (1) 0o

Simplify 0-056 + 15 x5+ 10 x 0-5 =
(1) 4-25 (2) 425

(3) ~ 0425 -1} 0-42
HE/HALEBI/6/21 4 ;/ )
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6. 1.3,8.7.9.11,13 &1 3fiwg &
s 2) 8 (3) 75 (4) 85

Average of 1,3,5,7 9 11 13 is

& (2) 8 (3) 75 (4) 85
7. ARy Fx% 100 & AU 2 vy 200 &, & x 3N 2 % &9 9 7@ FR |
L] 2= (2) 2z=x
(3) z=2x (4) z=3x
1f x% of y 15 100 and y% of z is 200, then find the relation between x and z.
(1) z=x (2~ 27 =%
3) z=2x (4) z2esW%

8. i emi & 2/53 & won-kege 1wy 15 B | 39 &1 1 40% ot g 9

(1) 140 (2) 150 (3) 180 (4) 200

One-fourth of one-third of two-fifth of a number is 15. What will be 40% of that
number ?

(1) 140 (2) 1560 37 180 ' (4) 200

9. U TG 3 sirged 510 G TIAR H 3T 240 31 T ot ¥ | R @ yw 2R
30 T % W ¥ rwident <1 afte et ot g 2
(1) 280 (2) 285 (3) 290 ' BBE

A library has an average of 510 visitors on Sundays and 240 on other days. The
average number of visitors in a month of 30 days starting with Sunday is

(1) 280 (2 285 (3) 290 4y 995

10. wH Fdars 174 B # 87 TH H TR =AM ? 3N 3 YHK ITH AWd 3 ¥ g 7y
S\ 173 g 3 ETe IO IEd HI HIT |

Q

(1) 36 (2) 37 (3) 38 (1) 139

A batsman makes a sC0T¢ of 87 runs in the 17 match and thus increases his average
; . s £ 1 .

by 3. Find his average After the 1784 match.,

' L 3) 38 g %
\U/J/Tifi (2) )38 () 3y
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11.

12.

13.

14.

13 T 1,200 1 T IR SIS G 399 2 991 & fqu oy faht s @ g | afe 3u
T 432 %1 SIS R0T ST & 37q ® T, i sa X fopart off 2

(1) 36 (2) 6

(3) 18 (4) 10

Reena took a loan of ¥ 1,200 with simple interest for as many years as the rate of
interest. If she paid ¥ 432 as interest at the end of the loan period, what was the rate
of interest ?

1) 36

(. ) _ @)/6

(3) 18 (4) 10

9 T 7:15 pm 59 R© &, @) 3 o9 0 b1 A A |

(1) I 0T | (2) THHIU

(3) AT U | (4) e =i

Write the name of the angle formed when the clock time is 7:15 pm.

(1) Acute angle (2) Right angle
(3Y” Obtuse angle (4) Straight angle

afd 40 1 15% R GEA1 % 25% & 2 S €T B, dF 98 TE gl

1) 14 (2) 16 (3) 18 (4) 20

If 15% of 40 is greater thar 25% of a number by 2, then the number is
(1) 14 2V F16 (3) 18 (4) 20

T TR Al 3 e i awers Juft - Hifor Krwe e 700 = H. qo WS

I A
(1) 28 | (2) 280
(8) 2800 (4) 2500

Find the length of a rectangular playgroﬁn’d in ¢cm whose area 1s 700 sq.m and

breadth is 25 m.
Q7 28 (2) 280
(3) 2800 (4) 2500

HE/HALEBI/6/21 6-C
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15. TS T AHA ~ 10°C o AR A o a8 3 Tl e T o | e H arqH
BRESCIE I

1) =7°C (2) —23°C (8) —138°C 4) —12°C

In the morning, the ﬁemperature was — 10°C and it decreased 3 degrees by the

evening. What was the temperature in the evening ?
\_(,1/ -7°C (2) —-28°C (8) —-13°C - (4)

16. U SEGIHR T 185 Hi. wieil AT 220 H. drer ® | 3o o § 4, H THEAM EISE
ﬁff@'é, Wh Eehl SAFETS oh SHIRI aﬁt?@ﬂsﬁ?ﬁ%ﬁ@é 3% quR | < 1-25 T o
). D TSH B VAT (FGR) FU H AN G AT |

(1) ¥ 3,900 (2) T 3,010 (3) T 4,010 (4)

= 12°%C

< 2,005

" A rectangular garden is 185 m long and 220 m wide. It has two roads in its centre of
uniform width of 4 m, one parallel to its length and the other parallel to its breadth.
Find the cost of levelling the roads at T 125 per sq.m.

(1) ¥ 8,900, (@) T 3,010 (3) T 4,010 ,@/% 2,005

[ o

17, S e § = wet S fEd 9 o SR T gyt @ § | §9 qIieTehl =l
et T ST e afit frefafied o ST N ;

?@ﬁ?@ﬁﬁ@ﬁﬂé%fﬂqugﬂﬁ,gﬁéaﬂtmwﬁwﬁww
(2 eI T o) Tehal o1 7

jIléJFlT Wﬂ e Ilé '@_alé EEREESEA =ropCEy
afrran oo, °C H 3 9 21 29 24 11
(1) 21-65°C (2)  24-66°C (8) 25:52°C (4) 26-23°C

The table belc;;.:v shows the maximum temperatures in New York City last year. Use

orage Mmaximurmn temperature (upto 2 decimal places) of three months

What was the av -
| ptember last year in New York City ?

May, July and Se

Month Jan. Mar. May | dJuk Sepf. Nov.

Maximum’ 3 9 21 -I 29 24 11

temperature, in °C

1) 21:65°C @ 24:66°C (3) 25:52°C  (4) 26:23°C
7—-C
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3 P - . L a . g [RUCIC S | Tl . : B [} : = ' L} o3 A 3
L Teey ML B EAL N by A 5 sop At ki . \ ; ] . .
AL f‘ ] !_.__. iy e T S -_\..n. i ".?'- S :_'_L_ .'rl ; . o - .- “E ; _” i .- _,__-.‘ I v RN
PR LS — < o 'Ihh' et L8 )l'f e it b . cm s i T T
b i Pt il e o s e i B = e iy ; 1y R el e ke ol L e et ——

18, g o forelt forg w snefgrr & =@ gRT AT ST g
(1) 45° (2) 180°
(3) 90° (4) 60°

The angle subtended by the diameter of a semicircle on any point on the circle is

(1) 45° | \(2)~ 180°
(3) 90° | (4) 60°

19. TH & U9 Sl Ycdeh 9T 44 9t 3 lsaﬁmziéﬁmé;@%@% 5 HIe I 2 |
HH-8-%H Th 81 gRI o g T IS o &+ 2

(1) 888 (2) 729
(3) 164 - | (4) 33

!

A big cube has ‘each portion of 44 cm. Tiny cubes of 4 cm portion each are cut from |
that. Then how many tiny cubes will be formed that are surrounded by at least one

cube 7 :
(1) 888 @ 729
(8) 164 . (4) 33
20. Uh SHMIRX R gars .
(1) 1x10-14. (2) 1x10-24.

(38) 1x102dl, (4) 1x1034,"

One decimeter is equal to

(D 71x10 1 m | @) 1x%102m

(3y 1x102m R (4) 1x103m

21. AT T Ughy ¥, A IS Gehata SRR ST I%, al gEeR AN I W NEIERIE
ST e a) a8 3Tan § |

(1) T (2) oTE
(3) gl &I S Fehdl (4) SN wuH §

In Roman numeration, 1f a symbol is repeated, its value is not multiplied as many
times as 1t occurs.

\)/ True . (2) False

Cannot say (4) Both are equal

HE/HALEBI/6/21 8-C
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FE A s s b il b — ettt oy S o et e et e e’ -—-ut—h---——-tn-—--u-.n-.-._.._....--"'"

945341 — 1042792 + 875:435 + 31-025 T T 1 8 ?
(1) 908004

(3) 795659

(2) 810-008
(4) 809-009

What is the value of 945-341 — 1042-792 + 875435 + 31:025 ?
(1) 908-004 (2) 810:008

(3) 795659 (4809009

23. h IEAHR % 15 At e, 12 A <igr afic 8 Tl S @, SR o W QA L
2 | &6 0 W g I 1 ST T IR |

(1) 18094 &l @) 1200 9= B
(3) 4407 oy (4) 1440 =9 =i

A rectangular tank 15 cm long, 12 cm wide and 8 cm high was completely filled with

water. Find the volume of water in the tank.

(1) 180 cm3 (2) 1200 c¢m?
(3) 440 cm3 @}-/ 1440 cm3

&q
3 5 7 13 3
- . %“375‘%‘%6 @ §<13 1% %
Which option shows fractions arranged in ascending order ?
any (1) %<%<%4% (2) %<g§<%{%

HE/HALEBI/6/21
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25. SR F - T Hu3 6, ored el A el AT K T B T F g @ &

am%wmwﬁw%luﬂam Hl TR TH & AU IR B F e wm

Al 8 2
(1) -z*erﬂa (@) 19 ® = @) gana

It takes Julia —21— hour to wash, comb her hair and put on her clothes and :‘1— hour to

have her breakfast. How much time does it take Julia to be ready for school ?
2 O

| \9_)/ g- hour (2) 1 hour (3) | 7 hour (4) " hour

26. W HeAhi § frefoRea § & s 9o 7077 27

(1) LXII (2) XCI (3) LC (4) XLIV

Which of the following numbers in Roman Numerals is incorrect ?

(1) LXII (2 XCI \@/LC 4) XLIV

27. TH ATCHT A % T 160 o, 64 /e W wmcar § qen el 160 R, 80 fery/e

28,

W H B | AET % T9H 320 Tl o st e 2
(1) 35-55 ferdfi/erer (2) 36 Terti/erer
(3) 71-11 feeefiyerar - (4) 71 TR e

A man on tour travels first 160 km at 64 km/hy and the next 160 km at 80 km/hr. The
average speed for the first 320 km of the tour js

(1) 3555 km/hr | (2) 36 knﬂhr‘
4{3)/ 71-11 km/hr (4) 71 km/hr

3-311 61 TG N g 2272 T 875 H) ey o ar o RTHS TH B R |
N - | lvﬁqoutltﬁi’f@ﬁ B

(1) 10 2 11 (3) 12 (4) 13
On dividi )
N dividing 2272 as well as 875 by a 3-digit number N, we get the same remainder.
The sum of the digits of N is
1) 10 '
2 11 3) 1o (4) 13
HE/HALEBI/6/21
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29. T T BN F Hf7 3w 100§ | AR B F A Y TR HI |

) 005 457 (2)  40°, 50°

(@) o0 B ©(4) 100°,90°

g’}ieaiigz?nce between two complementary angles is 10°. Calculate the values of both
(1) 55°, 45° | @4, 5

9 8L 8P | (4)  100°, 90°

50, 3, A 3R W =1 Fa 9K 48-057 RRN Y | G S ST T H WL AN 535 TohuIT
3R 24-52 TRIT R, 1 ST ST 9 ST <hIITT |

(1) 17-187 ferU 2) 18-187 ferumt
(3) 17-180 TeruT (4) 18-180 TehuT

The total weight of brinjal, lady-finger and onion is 48057 kg. If brinjal and

lady-finger weigh 5:35 kg and 24-52 kg respéctively, find the weight of onion.

(1) 17-187 kg @)/ 18-187 kg
(3) 17-180kg (4) 18180kg

31. T T i o BE Bd & 7

(1) 6 ) Ay 38 8 (4) 4
How many faces are there in acuboid ?
(2 12 3) 8 4) 4
o
32. Wmmﬁﬁﬂﬁ?ﬂaﬁﬁﬂﬁ%ﬂmﬁaﬁﬁ%, I8 HEA! 8

(1) oHde (2) @

(3) T@EUE (4) T3

A flat surface which extends indefinitely in all directions is called a
(1 Pl (2) Line

ane
(3) Line segﬂlent (4) Point
11-C
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33 ﬁ%ﬁkﬂa\ku‘ﬂs: 3 R: X? W? T? P’ Q HQ]T Y i@[ q_{ @ .q_( % | m OP m
ﬁFﬁa -ﬁ:l'—;{ %\“xh_x -
U v R X W T ‘?2 A
< 5 I i ! : i ! ' é 2
4 6
1 - i 3 - 4) 2
 ; @ : - 5

The points O, U, S, V, R, X, W, T, P, Q and Y on the number line are equidistant. The
fraction represented by length OF 1s

U V R -}F W f_F 1 9 .Sl?' | I 5
< (_!) L l i v P | ) 9 .
1 L 3) N 4 ’.‘i
CO= @ - Y 3 .
34. S HATTA QUIish, e wea § firg gﬂ?@m%, g
| (1) 031 2) 5 3ﬂ'{7 (3) 5 3T 6 4) 6 3ﬂ'{ 7
The two consecutive integers, between which the fraction -?— lies, are
1\(/1_,)/ 0 and 1 (2) 5and7 B T ¢ (4) 6and7
35. TiHlciiad o @ siF-a1 e oed Sier § 2
4 | 5 « 5 0
(1) = 2) - — =
: (2) T (3) ; (4) 5
Which of the following is the smallest fraction ?
4 5 5 * D
(1) = 28 — s =
5 i s © S ' @3
36. 1h® HishaT % STald QUTie Gaa (€)1 & 2
(1) =& - (2) I
(3) T+ 4) @ o
Whole numbers are closed under which operation ?
(1) Subtraction (@) Division
(3) Multlpllcatlon | \(é) / All of these
187, 1 ufers i oigadt (sreht) e 2
(1)'.2fﬁﬁﬁqq' 2) 1000001 (3) 100001 (4) 10001
The successor of 1 million is |
1) 2 milli 2
(1) 2million (21000007 (3) 100001 (4) 10001

HE/HALEBI/6/21 12 _ ¢
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38.

39.

40.

41,

X - R Y R P —— 4 -
-l--ull"""".-h-'l-.;_‘h__ W, =, . s

. i '..'.-.I.-u . & = k ey 2 o s = | . L - 'y
P i . i b » i - y . " ¢ % - k
T SUN SIS JUN SN S P L LR L PR SRR Y TR I U T R S Ry L A S Mgl e NN
- e ki —

V! HoH BT T&HT F9 HiRfe S 9, 12T 15 T&H § WNT R |

(1) 60 (2) 90 (3) 120 : (4) 1&0
Find the smaliest number that is divisible by each one of 9, 12 and 15.

. | ‘j
(1) 60 2 90 (3) 120 (4 180

GTEH-UI3EX Rl b T9i¥me vg & 15 ufq Geke | S= Sl 2 | SGhl OrIg T 144 wia esid
21 8 TS Uehel W Ufwrd & &y ke gim 2 |

(1) 20 (2) 25 (8) 24 ‘ (4) 36

A certain. brand of soap-powder is sold at T 15 per packet. It costs ¥ 144 a dozen.

What is the profit in percent on 8 dozen packets ?

(1) 20 @ 25 (3) 24 @ 36
' or SA-Q-ad) TE §a hitie el 87, 56, 93 I YT g TR ATHA F: 1, 2 T 3
@ | " | '
1 9 2) 18 3) 15 @) 12
Find thé greatest number that will divide 37, 56, 93 leaving remainder 1, I,‘Z and 3
respectively. | | '
(1) 9 @7 18 (3) 15 (4) 12
2 w1 HCF 9o LOM ;6 31 864 T | afe T e 96 2, 11 gl FEAT A
IR | | '
(1) 84 . W e ' (3) b4 (4) 24
The HCF and LCM of two numbers are 6 and 864 respectively. If one number is 96,

find the other number.

(2) 45 - (3) 54 ' (4) 24

(1) 84
42. @ Geail i HCF 12 % T8 ST S 12 § | 7@ TS frfrfag § & e 8 TeRd)
g 7
(1) 84,96 (2) 66,78 (8) 70,82 (4) 62,78
The HCF of two numbers is 12 and their difference is 12. Which of the following can
be the numbers ? |
7 84, 96 (2) 66,78 (8) 70, 82 (4) 62,78
13-C
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43. 21 SRAT 15 T ¥ ER AR 9 @ | ferall SERIRAT 85 TTHET < SRraR <Ry =i 2

(1) 38 (2) 49 (3) 37 ) (4) 41

21 goats eat as much as 15 cows. How many goats eat as much as 35 cows ?

(1) 38 (2 49 3 387 4) 41

44, qaaﬁé:ﬁ%gwﬁ%%,ooo-w’% | afg 1167 ¥ 3% 27 =%y B £, @) 97

1 oo & Fopaem mTem 2
(1) ¥ 1,08,000 2 T 1,80,000
(3) ¥ 1,00,800 - (4) ¥ 1,00,080

A mechanic earns ¥ 36,000 on 9 cars. How much will he earn in'1 day, if in a day he

receives 27 cars ?

g/)/% 1,08,000 .(2) = 1.80,000
3) ¥ 1,00,800 (4) ¥ 1,00,080

45. ?TFC‘{x:y;-3:5,?ﬁ3x+4y:8x+5yﬂ34§qmmw|
(1) 89:49 (2) 29:50
(3) 29:49 (4) 39:50

If x:y=38:5, find the ratio 38X + 4y : 8x + 5y,

(1) 39:49 ' (2) 29:50
3)729:49 | (4) 89:50 -

fepe STERET T STrerveRaT By 9 .

(1 10 @ 8

3) 40 (4) 12

If 10 men can do a piece of work in 4 days, how many men will be required to get the
same work done in 5 days ?

D 10 278 g @ 12

HE/HALEBI/6/21 14
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47. v EH R qeaes @ T 450 § 99d1 8, 1 39 10% &I g+ g 8 | 10% SIE!
9TH 1 % [T fosmg Hed ECIRAE] 18T ?

(1ry <900 (2) T 600 (3) T 550 (4) T 525

If a boy sells a book for T 450, he makes a loss of 10%. To gain 10%, what should be
the selling price ?

(1) ¥ 500 (2) T 600 (3 550 (4) T 525

48, TH A TF I 20% F AW W T 7,500 F Fe@1 ¥ 3 q@ whw B 10%
7 T T 8,100 H = B | 36EH oA 7O {1 AT TG A |

(1) B =F 300 (2) B =T 350
(3) w9 =T 300 (4) Y9 =7 350

A man sells one speaker for ¥ 7,500 at a profit of 20% and another speaker for
7 8100 at a loss of 10%. Find his total loss or profit.

(1) Loss = ¥ 300 \)/'Loss = ¥ 350
(3) Profit= < 300 _4 ~ Profit =% 350

49. TR 318, m, 42 WY ¥ &, Gl m I AH A HIT |

(1) 6 (2),.064
(3) 7 - (4) 252

Find the value of m, if 3, 18, m, 42 are in proportion.

@S5 (2) 54
A (4) 252

50. m\cc?h—:qf:; 1900 Sfened ¥ W W & N 900 ! T feaw F & T 9AT
1 3T

T 2 g 7 I T HE B T % A FAII a1 BT 2

"h.l‘

(1) 300 - 120 (2) 4:1 (3) 3=l (4) 120:130

In an NCC Camp, 1200 trainees are participating out of which 900 are selected for

Republic Day Camps What is the ratio between the number of selected and

non-selected cadets ? il

(1) 300 - 120 2y 4:1 \UNE R (f) 120:130

HEMALERI/6/21 15-C
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gt @ / SECTION B
= 719 / GENERAL KNOWLEDGE

51. Tr=fafad B & S e § Yoo ?
D T (2) =% S
(3) = . @ T
Which of the following will dissolve in water 2
(1)  Soil (2) Chalk Powder
{/3)/ Sugar (4) Oil
52. TreifaRed o @ sia-ar Oshme VT 2 2
(1) 7YnE (SHfde) (2) B A (e Tl )
(8) TSR (4) HE
Which of the following is a communicable disease ?
(1) Diabetes {2) " Chicken pox
(3) Alzheimer’s (4) Cancer
53. U9dl W T & frw, g -
(1) AW &Y AR FHAT T (2) 9I® hT 3T gl =
(3) H =T =nfgu (4) T (Th-aten) S =gy
To climb the mountains, we have to
(1~ Bend forward (2) © Bend backwards
(3) Walk straight (4) Walk sideways
o4.

e

HE/HALEBI/6/21

.CH

&1, A (FAE) IR g (Afve) 3 e o3 <= STt 2 SIE T
. ol ) w—qqurﬁ?f - ECL

(2) ¥ R 1A A o By )
(3) T 3N HH A B B B |
(4) i =i B g |

Seeds of drumstick and maple are carried
pOSSess

(1)~ winged seeds.

(2) large and hairy seeds,.
(3) long and ridged fruits.
( 4) spiny seeds,

over long distances by wind because they

(TR 1 TR a9 7ot Tiron i &
] BT 3 - & .
v 18 a tr d'LFZ) e (3) A= ¢H Dl
15 « ‘adl 10114 —_. , :
(1) Taanka M(Tln“f‘ltﬁl‘ 11;11'vust.ir1g Lechnique of Rajasthan,
Hadin (3)  Bavad; (1) Kuan

16 - C



57. THRgd § 3 995

56. TG _ _ A e §
(1) 9=y e (2) U
(3) <t (4) oot w3
Rasgulla is a popular sweet of :
' O/ West Bengal (2) Punjab
? (8) Kerala ~ (4) Himachal Pradesh

B R 61 T S HE,ERT g7
(2) N2
(4) YT

Which of the following is a tribal community of India ?
(1) Pandits

1) ufsq
(3) Y&

(2) Jaat
3y Bhil (4)  Punjabi |
58. TSTEAN o TSIYQ T TaTE 7 g g 1890F wraredt 3 SETS T8 T YETTSIET %7 W
odisy | | |
(1) et fopem (2) Pgg KR
(3) SRR A=K | (4) I T
Name an astrononiical observatory built in the 18th century by Rajput King Sawai Jai
Singh of Rajasthan.
(1) Red Fort | (2) Qutub Minar
(3)/ Jantar Mantar (4) Taj Mahal
59. T SAr=Red FeH, G, anfe g B9 &
(1) 7 JHUS o (2) SIga9Ed
(3) e . (4) YHUSA
u includes internal rocks, minerals, ete.
—--—-\-\-—-—-—__ -
(1) Atmosphere (2) Biosphere
(3) Hemisphere @/Geosphere
60. Gl a5} ey 3 P AR ST H TH T T SRS Y i w_r 3
D by i - (2) Sfamy gy
The Yemains of plants and animals that were buried millions of years ago are known
as
() Potential reserves @/fossil fuels
3) biomass fuel (4)  animate power

HEMHALERY/6 /- r=c
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61. I.UA. TeIEH (T JT=Ed]) o AFY S gl 92H YRGS 9 ?

~

(1) <R 93 (2)
(3) 0l ooy wed) ufea (4)

Who was the first Indian to be the President of U.N. General Assembly ?

(1) Natwar Singh (2)
(38)"Smt. Vijaya Lakshmi Pandit (4)

[

d1.%. FW §
sTd] 3e T

V.K. Krishna Menon

Smt. Indira Gandhi

62. UMY IR % Fefafea § € SR8 90 § T T AU Bt @ 7

(1) PBrees (2)
(3) T3 (3Ts3) (4)

In which of the following parts of the human body are sweat glands‘absent ?

(1)  Scalp (2)

@ Lips (4)

63. HTE & BI 9= ! Y ] Had & 2

\

(1) id (2)
(3) W3 (4)
What do we call the young one of a Kangaroco ?
(1) Eoal (2)
{3V Joey (4)
64. TEH ATUH 94 d &

(1) &% h (2)
(3) SIS <l Il <k (4)
Clouds are mostly made of

(1) snow (2)
(3) water droplets - (4)

65. fr=ici@a @ g Rt Fi & o awrg 91 = 209 gregd g=E TeH frar o

- e _ r
(1) T THe3d 3hisd (2)

(3) 2 R SR |
.} VD i ("1)

I“ or Vw’h]th GI th{‘.‘ f[J]l{}WlI]g 'ﬁ’O]‘_’l{S }];15 VHS(]{}T I\l(}lli lJL"L‘.'n :1\\,*;]]‘(1{}(1 tllﬂ* 29"11 S:'ll-;‘lssﬂr:lli

\(_?)’/Clwq ucbook

Samman ?
(1) Lost Children Archive

4) The Stranger Diaries ()
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66. YA A ohT THS & 379471 TSI cdieh g7 ?
(1) ehidcTeEg (2) BT
(3) G (4) uHTa

From which monument did India adopt its National Emblem 7

(1) Kapilavastu (2) Hastinapur

(3/}/ Sarnath - (4) Panipat

67. Trfafad & @ fpa gou Seft § wer/aE FHRT AEWRT 3T THEOT 8 & STl & ?
(1) AT (2) AR
(4) FHIYS

(8) HIqATS=H
In which of the following styles of dance is the story/theme always taken from

Mahabharata and Ramayana ?
(1) Mohiniattam
@3/ Bharatanatyam

68. TAR TUSHT SHevsl (Ve Haq
a-<IF b-d¥TMG c-<sus3 d-39G
(1) abed - (2) beda (8) dacb
Arrange the months based on our National Calendar (Saka Era) in correct serial

order — a-Chaitra b-Vaishakha c-Jyaishtha_ d-Aashada :

(2) Odissi
(4) Kuchipudi

F SIYR 9 HalHFl bl "ot »H ° =a9iesq hifsie —

(4) cdab

(1" abed (2) beda (& dach (4) cdab
69. Tr=fafeaa & o SIA-81 IS AIIH & ?
(1) o™ (2) ygda
(4) =dsh

(8) &S C-17 TAITATE

Which one of the following is a combat aircraft ?

u/)/ Tejas (2) Dhruv
(3) Boeing C-17 Globemaster (4) Chetak

70. ‘i%m?ﬂlﬁzmy?ﬁv'r q,gﬂﬁaﬁwm%%@mwg?

(1) Taefiex (2) THERfet
(8) T (4) Torerreiey

Which device is used to measure the speed of vehicles ?

(1) Gravometer @/Speedometer

(3) Gyroscope (4) Kilometer
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71, Befifed 3§ 9 BE-91 Gied! B A qeq e ?

(1) R 2) 9% (8) i (4) =R
Which of the following is domesticated in poultry farms ?

(1) Goat  (2) Sheep (3~ Hen (4) Horses

72. ﬁmﬁ@ﬁ%ﬁ%ﬁ@tﬁﬁ&q T B |

(1) EE1G HiTHIY (2) Ut (TerfomT)

(3) ga (4) &

The cover the tongue and react to chemicals in food.

*G,)_/’T;ste Buds (2) Sphincters

(3) Teeth (4) Skin

73. T YIE& A U fEHieor w1 war § 2
(1) @ IUE i FSR T & )
(2) ©TEh Yl qel W@ g
(3) gEwSial it gfg = Ut 2
(4) 3w A 9 HE T8 _
What does freezing do when preserving foods ?
(1) Keeps the food product hard
(2)  Keeps the flavours of the food fresh
@/ Stops growth of micro-organisms
(4) None of the above I

74. FEaRes # & we-ayd FU/ETET PeaTel O Gafdg & 2

D <fom wg (2) g gifl

(3) I rhy ; - (4) TIR TH

Which of the following cups/trophies is associated with football ?

(1) Davis Cup ' (2)  Champions Trophy

{3)" Santosh Trophy ' (4)  Deodhar Trophy
75. meﬁﬁ%ﬁﬁ%&%w% 9

(1) WK @ W

(3) TTEGRI 4) F=E gm

How do ants recognize ants frop, their group ?
(1) By colour

(2) By fac
{(3)" By smell y lace
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76.

77.

78.

79.

80.

81.

82.

83.

HE/HALERI/6/21
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HET T

fa=st umn
(Sraer Foht WToT =T AT S FTE! o [e1Q)

=y

(eI JTeri/2res Tgg % fore few ¢ feredi T | ST I1sg T T HiITT
(1) &ssid (2) HHITH] \3)~ wwHel (4)  U9HH]

- "l .-.\‘ :
el a1 S % g Prfafa wedi/aree gl sate HIfg | kel # ¥ TRl
fIehed 1 =T ShINIT -

TR [ ant/ gadfarg / #
(A) (B) (C) (D)

(1) DBAC & DaBC (3)  ABCD (49 BODA

T3 o = feu U foereyt | @ SfEa ooy &1 =R FiNT
‘ST ST hioT 81

(1) < @ T (3) T (4) W
fforiaa wree o g w&) fawdianefs wsg (faeheq) o1 =7 ST

AT |

(1) 3 (2) s (3 4) 3"
S=fofaa vrse & T g8 @itfa=eg () &1 ==m HiiN

g

(1) ﬁl’(+§§{ | (2) ﬁrﬁ+é§ \(_?)/ﬁﬂ+3§' 4 Tt + g2
g sree # U SUEA o Hal foehed ol = hifT :

CHE
(1) T @ ™
{,3)/ ICE 4) T

e o 3 19 fau Y freRedt W 6 Sfea fepen g
ﬁmﬁf@aﬁaﬁqmwa’_@wqﬂmﬁw%?

(1) 37K (2) T 3V SIe (4) IS
E’jmwﬁ?ﬁﬂﬁ%

(1) g:@lﬁ W ﬁﬁﬂ?{

(3) 33U (4) E



hmm g m e =T

84, Yy o A= Ig

W
) fou o fyeseut @ 3fer feehed ol =T shliNIs

" A\ ] C o
SrafoRed O O ST Iee JAlgdid 1 a1 3 ?

(1) 3T @/ AT (8) SId9H (4)  3qd
85. Trefifed § ¥ Hi-a7 Yeg TR S THEATH! F6G T8 8 ?

(1) 9o (2) TR

(37 3T (4) T

86. Touw 7u fyhedl §f ¥ Wl ad+1 Il Wee I TAT HINT :
(1) Ifiare (2)

SATRIEG (3)  efvErg W-amﬂafa

87. Tp TyH W & foTw 3uyx

1&%(’qﬂﬁqi

S ot 1R o R T 8 R HEATAT & |

(1) STfrRmft (2)

ST (3 AH (4)

WIS

[AeTicTiE Jgese &1 sqHyds Ugat e 77 J991 @ 7%1?3?3'? laweq iAT (T97 T&aT

88 @92):

Rt 99 1 9 IR Y ©a1 2 | 9919 | Si9dd

ST . FHTS TS g1 WY | 20 &6

al IcTesh 99 8 I 7 fohar 9w | iEfisht % Scures H9 T Aqreae I8 & b
it &, ST aw A, = Wi 3 | 9 am w0 e e | o S 9 Fer R wwm

S wdt 2 | 9 o9 = oI T
1efoRdT o SR T HETCHT e § el AT — T A B R

M W HS N hl

1 91EAT g9 HES I g TIee | TEge: §AR 4o 1, AN S ol HEHA B — ¥ |
O8g IR HH H

< hid

1 e AR Wifd h WG aiem o & oy B 7 | uiem,

<N 7 91 & | S ST URSE T 2, 98 g ot g

gg. TS I g ht Grdehar fad Ol 8 2

(1) uiem @ ¥
(3) o1 & gl a1 |

89, Tl ee FI [ITH I< 3
TTETehdl (3 reefera (4)

90. F T H A HY T 2

(1) 9Bl (2)

(1) 9 &9 T 8

(3) 9 W H g S e gl

(2) UmE 6 uET
s_,(_jl.;}/ SeqTeeh oM |

91, Tyl Y o 70 T SAET § 7

(1) RELd HL]
(3) Straad

N2y fRaR oM
(4)  yd

92. UiH, el TR A 1 IS BT Y Y R 9

(1) gfed ST areE! @
(9) gl HHAT a1 8

-~
|

"\ .
hl 9HT TohaT ST7aT § |

3y ST A A BT © e HTEEt oft e @ |
(4) qfeym, aEd Th-gi & 0 Taf ¢ |
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@ @ . | () &
(3) Shiddl . &y iz

94, TEShl TG DI TETH &

ROkl (@) H (3) SRR (4) TSI
95. g’a’ﬁiﬁﬂ'gf Gq‘iff%rﬁgq

a1 TeET - |

(1) d¥3 ST | . (2)  ITIEETel &l

\3)/' ek W FRRFE (4)  GrET e

96. TEER 1 gl 3-‘125‘ l%lﬁgq

FTF I Y YSHI

1) @S @  gfg T g S
(8 G e ol e T G (4) € S
97, I % o wd e €
géier g et _
(1) wlgs - ' 2)  femmefl
(3 wliemeft (4) et
98. faeim weg SfeT -
W sm @) o (3) B (4) e

99. ﬁq%f@awﬁﬂﬂ?aqu%ﬂﬁﬁohw T < hHIRT - \

[EBIRD

1) = V)/ 3T 3 = (4)  HTH
100. fitfurfige wreg =1 ST €9 IHT -

Q) St @ Trer (8) ot (4 e
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'SECTION C
LANGUAGE
(Only for those attempting English Language)

Read the following passage and answer the questions (. 76 - 78) by choosing the
most appropriate option :

Zeus and Prometheus

From the very first, humans had trouble W1th the Greek Gods. Most Gods thought of
humans as toys. But Gods made friends Wlth the humans One of those Gods was
Prometheus. The first people created by the Gods lived happily together. They thought the
Gods were wonderful. But their children were not as grateful or as content: The children
argued amoﬁg themselves, and sometimes even argued with the Gods. Zeus was very
disappointed at mankind. He decided to punish mankind by depriving them of a very
important tqbl — fire. Prometheué felt sorry for his human friends. Fire was 1mportant for

many things such as heat and cooking. Prometheus stole a lightning bolt from Zeus and

gave it to mankind. That’s when man discovered fire.

Zeus was furious as Prometheus had déﬁed Zeus. He ordered Prometheus be chained to g

rock as punishment for stealing his lightning bolt, and for going behind his back tg help the

humans. To make Prometheus even more miserable, Zeus sent storms to beat ANgIy waves

against Prometheus, helplessly chained to his rock. Zeus made the sun shine really

brightly now and then to burn his skin. It was Hercules who finally released the helpless
God from his chains.

76. What is the meaning of the underlined word - ‘Prometheus had defied Zeus’ 9

(1) Prometheus had worshipped Zeus ali his life.
(2) Prometheus had defamed Zeus.,

(3) Prometheus detested Zeus for his attitude.,
QL/}/ Prometheus had disregarded the émthority of Zeus.

HE/HALEBI/6/21 . 24-¢
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77. Which of the following statements is not true about Zeus and Prometheus ?

(1)

Most Greek Gods saw humans as a means of their entertamment
(2)” Prometheus wag chained to a rock as he was a God.

(3) Zeus was an unforgiving God who did not like to be disobeyed.

(4) Hercules emerged as the saviour of Prometheus.

78. Why was Zeus angry and disappointed at humans ?
(1) They kept asking him for fire.

(2)  The humans misused his lightning bolt.

q.‘(‘g)/ The humans were quarrelsome and didn’t respect the Gods.

(4) The humans were not intelligent enough to discover fire.

Fill in the blanks with the most appropriate option.

79. There was no one else in the room Collin, | -

(1) accept 1&23’” except (3) axcept (4) acept
80. The news is all the internet.

(1) .0.11 (2) through {8 over (4) near
81. We studied about Roman Empire in sc_hool.

1) a @ ang (@ the (4) o article

Rearrange the following words/phrases to make meaningful sentences. Choose the
Correct sequence.

82. the sun / you / of / must/ stay out
@ @® © O @&

(1) ECADB (2) ABCDE \3)~ BDECA (4) DECAR
83. 1/immediately / salary/my / want

&) (B © @ &

R 2y AEDCB (3) DCAEB (4) EADCE
HE/HALEBI/6/21 -
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(1) Unmortal \(29/ Tmmortal (3) Inmortal (4) Dismortal

_ of thieves was caught by the Police.

(1) swarm @)//;)ack. (3) team (4) ‘batch

86. It has become his habit to

(1) alwa_ys (2) often (38) frequently (g,,)f"#never

87. There were several

1) women (2)

_at the conference.

woman (3) wemens (4)

88. ‘To beat around the bush’ meang
(1) to turn violent against a stranger.

\(24/ to avoid saying something because it is uncomfortable.,

(3) to come to the main point of the conversation.

(4) to start a fire in the forest.

89. My fatheris a bookworm, he books to films and sports.

(1) is prefer (2) prefer <{3) prefers

(4) are prefer

90. Choose the most appropriate option |
Which of the following options is the meaning of the word ‘exhausted’ 9

(1) Very hot - (2) Very polluted
(3) Very fresh ’ (4" Very tired

91. A confecfioner is a person who

(1) sells tools (2) sells confetti

(3)" sells sweets (4) sells clothes
92. The captain along with the players.
(1) "was present (2) was presenting
(3) have been presenting (4) has been presenting

26 - C
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93. Leave your bags at the cate. (Identify the type of sentence)

\(p/ Imperative (2) Declarative
(3) Interrogative - (4) Exclamatory

94. Near the equator, the sun

sreater quantities of water.
(Choose the correct form of the verb)

(1) is evaporating | A(2)" “4vaporates

(3) has evaporated (4) evaporate

95. Choose the correct spelling :

(1) appartment (2) aparttment™ +(3) apartment (4) apartmant

96. Today 1s the day of my life. (Choose the correct adjective)

(1) more important  (2) less important

(3) 1important | (4Y” most important

97. Poets are known to fly in their thoughts.
(Choose the word nearest in meaning to the underlined word)

(15 sore (2) sour 3 /goar (4) sure

98. Do as directed :
There are some diseases that are inherited. (Identify the kind of Noun)

(1) ‘diseases’ is a proper noun
(2) ‘diseases’ is an abstract noun

(8) ‘diseases’ is a collective noun

) . .
N4y ‘diseases’ is a commMoON noun

99. After school you and _ must discuss a few things. (Choose the correct pronoun)
(1) him (2) me \@V{ (4) we

100. It is quite warm, —— ¢ (Use a Question Tag)
(1) isit (2) wasn'tit \@/fl’sn’t it (4) wasit
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o7 & / SECTION D
uaT (seferera) / INTELLIGENCE

101. Fl2 “+ I 3195‘%“3‘{[”, g 37 B IO W R IR IS, F 10x5+3~92 FHH

T2 2
(1) 24 (2) 52 (3) 9 (4)

10

» ¢ means “Multiply”, X means “Add”, then what is the value of

If ‘+ means “Minus”, -

10x5+3-27

(1) 24 2) 52 39 (4)

102.@%:@@(%@)::@@%:

(1) TE HE (2) T B
(3) BEMAN (4) PIHIATS

mend : sewing : : edit :

(1) darn (2) repair
3 manuscript (4) makeshift

103. T0h ¥IF &1 gfd HI |
S : HTST : ; el U

(1) = () (2) fie (3) THTe (4)
Fill in the blank.

rein : horse : : control panel -

(1) pilot (2)  bit (Ba/plane (4)

(1) UA.UH, U

(3) *=nldHUY

(2) %ﬂﬂ%
() fega

Choosethe word which is least like (1o ... :
’ s least like the wWords in the Croup.

w/MS Paint

(2)  Facehook

€y WhatsAy ‘
(3) felti Pl LD Pwittor
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Complete the second pair by selecting the appropriate alternative.

106. @aﬁtﬁfi%ﬁ’r‘q’raﬂ?ﬁaﬂ?aﬁm% wg@wal%nﬁaam% ﬁv'{geml S8 el 3
3 5 el e 2 | 9 3591 48 R faum ke g 2

(1) cfm (2) I (3) (4) ufEm

A man walks 6 km south, turns left and walks 4 km, again turns left and walks 5 km.

Which direction is he facing now ?
(1) South {2 North (3) East (4) West

MeR

1) e @ T @ ™ @
Choose the word that is a necessary part of the underlined word.

Guitar

(1) Band (2) Teacher (3) Songs *.(iﬁ/strings
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108, TR 3 T T @) e, “oA 45 T & PR S TS 7 | Sifom 5 5 e
qeet ot off | o § 7:45 am WIS | gl 3 WFd TR gE g gu w A

ot ?
(1) 6:55am () 7:00 am
(8) 7:05 am (4) 7:40 am

The priest told the devotee, “The bell rings at regular intervals of 45 minutes. The

last bell rang 5 minutes ago. The next bell is due to be rung at 7:45 am.” At what time

did the priest give this information to the devotee ?
(1) 6:55am (2) 7:00 am
,@)/ 7:05 am (4) 7:40 am

109. I % & TIM T PH-UT 321 3T 2

RoXoX0
® @ ®
03010

2) 0O
3) P 4) M
Which letter replaces the question mark ?
(B @) &
() (2 &)
D@ @)
1) N @ o
3) P @M
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110. T% %< W, ‘BOMBAY’ %! ‘CNNABX’ ¥ &4 # Rfed a1 San 8, dt “DELHI T e *1

I 2
(1) EDMJG (2) GMDEJ
(3) DEGMJ (4) EDMGJ
In a code, ‘BOMBAY is coded as ‘CNNABX’, then what will be the code of DELHTI ?
(1) EDMJIG .~ (2) GMDEJ
3) DEGMJ (&~ EDMGJ
111. T&F T&H <l gid i |
T BT : Teh T ST ; : HEHG T
(1) 98 M (2) =T ¢
(3) Terms T (4) G =TATR | AT o
Fill in the blank.
segregate : unify : : repair :
(1) approach : (2) push
\93( damage | (4) outwit
112. 9 fouw wo fox § fovar By 8 2
1) 4 2 12 (3)" 16 (4) 10

How manﬁni“énglés are there in the figure given below ?

) 3) 16 @ 10
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e mmmm A o m .

: - qeh T AR OB AUt SRt 3T ey
113, Tee 3 DY g A AT e LA 6 | 98 FO &

R B Tl | ot 39 g@ foRd faum
o (2) T (3) <& (4) ufe=m

(1) W

: t. He walks a certain distance and then
ing straight-towards Eas ' . &b '
tRu?:ll;ltifj;fz: gzlfgﬁ erg lw;gvalks again. In which direction is he heading now ?

(1) North (2) East {3y South (4) West

114, feg e f&oth'fﬁ@rﬁﬁrqul = hitoTT |

(1) @li‘dl&?l : <Rl (2) 79'-"-‘*’“‘_" : |
(3) TR : BleR (9 ¥ : R
From the given options, choose the odd one out.
(1) Bangladesh : Taka - (2) Brazil : Real
- A8V Cyprus : Dollar - (4)  Iran : Rial
115 AR RF Fagia |
EstAI e
Tk Tret® § weT & |
i IoH & oM T &, ol T e 2 | | e
(1) o= (2) 3Ty (3) T (4) T ¥ 5 &
Tanya is older than Eric,
Cliff is older than Tanya,
' Eric is older than Cliff. -
If the first two Statementi are true, the third statement is
(1)  True A2V False (3) Uncertain (4)  None of these
116. < 7T @@l ¥ SR a1 Sy 2
ACFEFHKDM, ...
(1) N 2) Y 3 p 4) M

What comes next in the given series ?

iiiiii

(1) N 2 Y | \@/P | . -
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117. A, BRI 9898 | C,BEuig ) D,CH U@ | E,DHI AT @ A @7 DY T G

3

(1) ST (2) T

(3) HEﬁ (4) ui=h

ﬁ) ijsj ?5 sister. C is B’s mother. D is C’s father. E is D’s mother. Then how is A related
(1) Grandfather (2) Grandmother

(3) Daughter \(éy Grénd—ldaughter

118. T faf¥se %2 it §f COMPUTER s RFUVQNPC & 9 # T il 3 | IH ®L
vraT § MEDICINE 1 fore wepre foram stmam 2

(1) MFEDJJOE (2) EOJDEJFM

- (3) FEJDJOE | (4) EOJDJEFM

In a certain code language, COMPUTER is written as RFUVQNPC-. How will
MEDICINE be written in that code language ?

(1) MFEDJJOE () EOJDEJFM
(3) MFEJDJOE (@/EOJDJEFM
119. fe ef¥oryd ST 7 I, S-qa U B WY 3R g9 TR hA S w®, q 9| =2 8l

SITET 7 | :

(1) S c (@ SwAREm

(3) glerorgd (4) Tlorafyan |

If South-East becomes North, North-East becomes West and so on, what will West
become.? . | |

(1) North-East ~ (2) North-West
3 South-East (4) South-West

120. S99 Fire S e WX R A ?

10, 100, 200, 310, 7

(1) 420 (2) 410 (8) 430 (4) 400

What will come at the plac
10L100,2001310,?
(1) 420 (2) 410 3y 430 @) 400

e of the question mark ?
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a . ¥ i, . s
121. 3:[8{& gh Gl'?i-{..ﬁ' Uch Hﬂ-cqq q;i Eﬂ' T|§ & Fi"QQ"“ ;}7 il an:h‘ ﬁ Fh‘l‘”j'Hl{ LA o 53 A

ol gl ?
_ab_b_aba__ abab.
(1) abbaa (2) bbaab (3) abaab (4) aaaba

Which one set of letters when sequentially placed at the gaps in the given letter series
shall complete it ?
_ab_b_aba__ abab.

(1} sbbas (2) bbaab (3) abaab ($xraba
122. 9 @l 1 3T 2Raw : 2, 1, (1/2), (1/4), ...
AN 3 1) e s gl 2

(1) 1/3 (2) 18 (3) 2/8 (4) 1/16

Look at this series : 2, 1, (1/2), (1/4), ... -
What number should come next ?

(1) 13 Q2 U8 (3) "¢/8 (4) 1/16
123. 9% ¥l forhew givg e st geg gy | ¢

SCD, TEF, UGH, , WKL, .

(1) CMN (2) UJI . (W VIJ | (4) IJT

Choose the correct alternative that has the same relation.

SCD, TEF, UGH, , WKL g

(1) CMN (AR UJ]] {33 VIJ (4) IJT

124, I “WAY I 679 = &9 I Hied T e R, MAY i 579 % €9 § Hfed fem s L,
al YA &) gled fepan Smom

(1) 976 (2) 769 (3) 679 (4) 579
If ‘WAY is coded as 679, ‘MAY’ is coded as 579, then YAW’ will be coded as
(1Y 976 (2) 769 (3) 679 4) 579

125. 45 fermieii 61 T e H, iR & w1 ow 1697 § | 275I%h, SR ¥ 6 T 99 ¥ )
= 9 A3MH FT 5T HiA-G7 B 2

(1) 2840 (2) 82at (3) 24dt (4) 30af

In a class of 45 students, Amir’s rank from the top is 16th. Ashok is 6 ranks below
Amir. What is Ashok’s rank from the bottom ?

(1) 23rd (2) 32nd {3)/24&1 (4/';' 30th
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